—fi% 55F 1000m

Fi¥E 440 &HH L2588
No. K# il B A4 I =B faE
19 j:ljj? [;JE:Z:F HBZE— KRR — MOER (Fh3) 2.08.12 5
15 ;’;‘Jj ;?;: Vortex (c12) 1.50.82 2
1 :’AJ?; ;’;\’IJ” TBEREAS (14) 1.50.92 3
11 2.5/;! lé; ERER(S2) 1.52.75 4
5 ;Z; j]g;r RS (1) 1.50.77 1
No. E#& i @R L BIE mE
2 ‘Jj;@ g;t” MRS (53) 1.47.09 1
16 Hﬂ\f};g Vortex (h2) 1.48.61 3
8 Z;J*’;‘ M pEBER (552) 1.47.27 2
20 ?ﬁéﬁj QEH:—L\ #BIZE— KRR — MOER (F3) 1.51.37 4
12 r;;; gj@:ﬁa L EERIREE (h2) 1.56.55 5
No. K% FhlE B A4 I =lE fmZ
21 Eijj‘:/ ;IIE:/; #BIZE— KRR — MOER (1) 1.59.75 4
3 :,A{; 172—;( ESR (F2) 1.48.54 2
13 %;;’lgr; hERTER (1) 1.59.78 5
9 ’%E Z;E; EEILIEER (B2) 15521 3
17 Z;; ’;Zia Vortex (h2) 1.47.55 1
No. E#& iR B HML BB mE
4 ‘Jfé e RS (F2) 1.49.56 1
18 E;;;;Zg Vortex (h2) 1.50.10 3
14 ;’;Ef ﬂ’]ﬂf Vortex (h2) 1.49.87 2
19 0% EDY ERER(E3) 1.57.00 4
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—fi% 55F 1000m

HERES 240 BHE L2588
K& il | 5L EIE E
1%7\; /;r;n Vortex (#12) 1.48.70 3
:’AJ;F 17;;( ESR (52) 1.49.56 4
EE 7;; ShESR (52) 1.47.67 1 Q
?;Sf ﬂ’f;? Vortex (F12) 1.47.96 2 Q
K& g /= ML BB HE
‘Jﬁ"’%ﬁ‘;” SR (B3) 1.49.49 4
;Jf; Mgy e BER (B2) 1.49.10 2 Q
Zg; j]g;fr R (1) 14937 3
?;‘IL? 5;;9 Vortex (h2) 1.49.03 1 Q
—§% EF 1000m
RES
K& g /= ML BB HE
‘JE i MEmR (B52) 34 1.38.65 1
?;I‘L? ﬂ’ff Vortex (c12) 21 1.46.18 2
?;:L? 5';;;9 Vortex (c2) 13 1.46.74 3
THhHzZ XY

It ER (5 .06.
S HigdiEER (F2) 8 2.06.23 4




